i(vm\tsc,, 20% \WEEK Hﬂ |

\iét’(t (O Summaey:

=

* S(": A;
¥ A ks comfls a?u\vx(w/x,i '/{.,1;015? -
K4 = CXOC X0l b Rofn= €AY L 02

= ((og Lf+l$m L(‘)

We te -)?,(('\ ny a(_ﬁ +) UCﬂ/ ant +Le, W&s{h-‘}m (y

X(8 = QU +C, ).
‘Ptl{& pah,+: R > O ondvsd spuents
a <o  Mead spvxdy
A =0 e“«yud,/ Core by

¥ A heas epetd Q;QUWK(..‘_.,,,

G) Two Q_(zu\u(c{'ar; ) SN po it 4%» ’%‘

W
\

(1) One awbﬂ IAGEN e“ o
Coess.  Xo(B= '(‘e'\b'«i*-e (-u solve fom ¢

Ploase et D"buu(:ﬂ NJ‘- /9“%;

g L‘\()L‘Q +KZ1\3‘L;N-.S: J(\L\)(S) = fm‘(:\(.r)e\s& J‘t = ‘I:&))
¥ Tuens decimbye, ko el h(a‘('o-\ j\(j ) = s Y- .1(‘,)

¥ uS'C:CV*-Q e,S(,{cau@Q:) Aen Q/rcrj ttrW\ Uy A(?m{'aw
O(?L; “A“f-Lﬂu‘L &pvufov‘

b

¢ N
slda & ObE Colatn & ﬂb' ‘5"‘



\2)
' Mare Uyl Kansforepapries

(il die (-‘Qﬁgls) F(s c,)
G) L§EED3) = -F'ty

@ Z{EED3n = ()" F 6.

A;pgi(laﬁh) o(: +L€.\9'~

E en e [ ) =€ es 2t

Usemy (), ;1(6Zf Cos 3t) =§‘.'Szj:%2;' =+
Ewmpl 2~ F(ﬂrf‘ 5 G E e

Rucll: 2(e%) < L = Gy —

US"g QUM J(f’— 3‘)() < ()G = jjs(s 3) (5-1)% |

Qack *o wsiny Lf\p\m.. Tﬂ'\sﬁr‘ﬂ) L, solwe OO 51 .

Ex gﬂ& U‘.. qj = (oS ?,(“ J(O):vl
dly) - L1y = l(cas’Zf)
[ Y- o] ~4Y = Ty

s 3zt | Z25%es=X
SY*Z”%Y‘?TTZT ) @-“)Y' S2+q  Cy ey
-2$ €5+« 3
-
\/n (s~O)(s+y)

N Tee solaton & +his TVP &+ gnee Yo brom GIRa

,AA. L LKQ 't P §\ = ,Zng’S"’S’
2 esfor Tl (s-4)(s%e)




we read to Rquwe owt bav & tuade® the Lyl

Nov,

‘ ’tf‘KAa‘G(r\
Let's revisit our example TUP: yf-y = eu—) j(") -0, j((o):/~

Reclt et we Cm’utj Yes) :(S+ﬂ‘(5-—f't)'

To Sol\l‘t e ‘j(ﬁ we mut CG“’\P“}Q oz ((Sﬂ)(s~a))
\ A

-C) O(o 'H‘\( (‘\;‘b» [5
o (5“0(5 ) Tset <

Use 9«(“&'{31 ‘Q‘kc. 2;0/\ OS}‘('('O/\; ’6 y
A‘J.S‘*‘L) B(s+D) | —~ —~A
' = == 3 t ~2A) =
sel(s G250~ Ol 2 (AR) s t(R-2A) =(

v o _
= {A*rs 0 4.g = 3:) = B \/3
E"l/\“( | ,A"lj\

L ~1s &

- *

S0, ——v——
! (Sﬂ)(:q) Stv S-—2

= d ((Ht)(s~u) “ svfl) L)

?—’3
et
v
A=
S’
;-r
-
/=
0|
[
N
~—
n
)
w"
n'
+
(WIE
n
~
L~

LE—:M L CG“\F“& "\L»\(S + Yy *\-S\
N_"_ﬁl e {5413 dernrt factor,
IV.\SM, Pb\* a+ T 'H"( 'a(""\ (S»L)‘L(—oiz P SLCAML

A

Sl cinat) = " Go)iea

~l

“CUMPLJZ tha Senare "_ { - | - ( 2L e
6 (S"sed)ed  (S+)4 37 3 (4¢3 136 Smgtl




Eramgle: Solve the TVP j'l~zj'.’$j =0, J(o):), j'('o) =0,

Old netlnd - j(ﬂ te‘\t) N-( r’L__'zr--‘s) =0

= (~=3)(re) =6
| =yt =Ce*te Cz'e‘f
Use initad ceroditipas : 3(03 ‘V:,,Cli—(‘z:‘,t ac jtt) =3¢ 'e_jé-Ci e’
ylo)= 3G -C7 =0.

C+Cq =1 1 ' \
) — = .3 . A 3¢

New mablod: 47243520, gl =1, y)=0.
2(y)-72ly)-33y) =0, |
[s? t~>3(o)~3co)]~ 2[5V~ 4(0] <Y =0 |
[st¥=s-0] =2[s¥-(] =3V =0 = (s%253) Y =§-2

_ S A n _ S -2
Ys~s3“3~*§7€\'9223~3_

A (s . B (53 _ (A+m)s +(A-28) . __S=%¢
§ stf() . S_‘t_( S~3 = ( z51l\($-3) - (S*\)(S 3)
ATy = A = 3 o Yy
{ RN =3 = Yin* IR TR T

1

(i 1(2) 1“(;’:‘) () 1)
'—Bt‘j(ﬂ:fzﬁ -rqe) |




| E)
Dum many [andysis: Conseder ay'eby'tey =H1) ylo)=y. , ylo)y=y,
L (ay'+hy' vcy) =adly")+bdly) «cdly)
= a (_S"Y~sj(o) ;j‘{o))f‘é(s\’-j(o)) tc¥
-—_'(asl_l.gsf(:)\f/— no(ajfé)—»ble :’-F’[.‘).

Ks
Thea, Yoo = ’\51*‘:)3 T (:5?:3 A
SRl i ! solia

f.e., Y(;) 3 \/5(;) t ‘1{(5)/ wL<,.¢
\(gv(S] hrenan 4 W 7 ‘H—{ mited md?‘"«TWS, a(\-/
CYi( doeam't < deperd on the “Qm\j tera ‘C(l‘).

DisCortimom.  1wrcing  teoms
v e 0 ‘t(‘K

; Tatrvad C’f“_(*“": H‘ﬁ‘-» (ﬂ - { \. acted (‘t" !—1 ot

0 astc o a L

. - C <o |
o \(ehxﬁw\olt Lonction- 14t) = {O < \

e Shotk ) U-QA\QSML ‘Roc‘\w\i | uc(‘t) _ {0 tec \t

\ tzc

= B (t=<)
fote: Moyt = Hald) ~Wy(p = WW(ta) -H(t-L)




¥ Mary pieeivise Cortinuon, ‘C«M{'I'MJ Can Sa "f'{’"“’j"‘j usm

lluvasw(g Lnctans . | 2t ostel
| ) - {
A i ‘ !
V | T = 2t b, « 2]
} v 7t
« 2t [ M- W) + 2 HE-)
. | = 26 WA - 2(e~) wlE-).

G—&Xl Wse +le uteﬁnﬂ&‘ll \EA‘I\C'{'(;(){\ ‘Eo un“lx ?k(‘sc‘q\—{—,\,\m 3 ‘Qﬂ(’l‘m/l.)/
S Wt Can ‘%&L{ "u"tt\(“ L«(‘[Au "&C'KM‘CWQ CASZ(:)_

B (: *C('(‘\ - % O§t<‘f 2 \
~S et <6 — = ¢

éi7'* 6 st <o

A

L= TH, (D -5 () vl )
= 3L - W] - s [0 -6 ()] ,.; J‘f[uu-g,)]
© M) < 3 Rk « S R(E-C) « T W (t-)

Nete: i{ U—«s(ﬂ?m : f:,ej‘e e e:as_se:is_ .
Recalt ot ZL{ oL = EG=e).

——

Pag |2 { W) Ft-9}n = €7 T




+

hed duer Hhis men?  Suppere FD LR &l

= FE <)
A 4 | W) £(#-0)

T, WO FUE) b 80 ab o0, Hen shifls it by c.
Sme FA s defmed G oaly €20, we dort wad £(t-<)
to be defah Lo L cc, so wt use W(t-<) Flt=).

— ceel
%&_ Fad the Lapla s pem oF jm= 2‘7; ‘:;“‘,
g(t) = 2 Ko (el e, ()
= 2t [wa-#0] +2[we)

oz e W R 2 W) ' . .
o u {412 () W)
1§53 21 fewnd- 2 X freawesd = RS et

4




